Day 8 per8-9.notebook

September 16, 2019

1-7 HW Answer Key
1 & 2. Answers will vary

3. (x-3)(x-2)

4, (4x-3)(2x+3)

5. (2x+1)(4x2-2x+1)

6. (3x-4)(9x°+12x+16)
7. 2y(y+3)(2y-1)

8. 7a(a+2)(3a%-b)

9. 2(3x+2)(3x-2)(9x°+4)
10. x°+2x+6

11. 6x3+12x*-8x+6

12. 9x%-2x+2

Requiz by end of week
Wednesday Open House 6-8pm
Thursday Quiz 2 (Days 4-9)
Next Wednesday Test

Tues 9/24 1st Math League
Meeting in LGR 2:30pm

Aug 27-1:14 PM

1. Create expressions that have a structure that allows them to be factored using
the specified identity. Be creative and produce challenging problems! Be
prepared to share. Use scrap paper first to work them out,

a. Difference of squares CT y . lég__'&.

) b
b. Sum of cubes L)+

.
c. Long product/sum ;2 N o 3

2. Factor each of your examples from above.

o (3=t YGr )

b, (2+X°)A —3++x")

A

e (2K arev-3 oz

' = 2xEd Ty o2
- ){(ix +3) S10K+3)

Factor Completely., = (AT 3L 5“""_}

3 x-xes 02657 4. %fszﬁx . i{{’J:q %‘; S}T’f
= (X3 ' C T i L Aar S B
& 5)0¢-;L) :1;(41:-3)*3(4!~‘:)
= {Yx~3)(Ax+3)
5 8001 o3 b= 6. 27x' - 64 a?:).x) f "";/
= ()X = (3~ ) XTI
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? 4y + 10y? sy i"-(a 5=5 B. 2la" + 42a° - 354" - 70a
Agdyasy T (a0 10)
,;3 ﬂﬁ} 1-}.)—:( ng =7a Eid‘(m‘l)éi‘““‘)j
_g%@&u)@t} .5 S NIV E

9. lszx"—azbt*ib)
:ig‘“ Lo J(ARTE F)

=2 (2 x4+ 3x- X 'H?")

Simplify:

3
10, M ,and check your solution, (}( *;_3 O(-‘-;p;u{ ‘Kﬂ)

x-2 XL + - |
K== Wﬂﬁ%%:’-_ﬁi = gDl 2NN

B Aar = X%t a7

o
11, (6x% + 5% - Bix) + (11 - 3x + 6)
= bt -k 76

12. From (3x% - 2x + 9) subtract (7 - 6x%)
( pyt—axta) —(7~6x*

- 5){1—vl*f-*q -7 ‘F"'(a?(?_
= Gt -axt
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1-8: Solve Quadratic Equations by Factoring

Vocabulary Tip: Functionshave ZRAOS o x-intercepts, while
equations have solutions or oo B )

We can find the roots of a quadratic equationin the form ax? + bx + ¢ = 0 by factoring.

If ab=0, then what do you knowabouta orb? Why?
A=\ b=0O o botk .

If (x)(3x-5)(2x-2)=0, what do you know about the factors?
A+ uw_;r Mo 'S = 20¢O

[
Algebraic steps to solve (find the roots) of a quadratic equation:
1. Get one side equal to zero. O\\I-'-b/( yco=
2. Factor

3. Seteachfactor equal to zero (T-chart)
4. Solve (checkif required)
5. Write the solution

Example: Find theroots of the equation 0 = -x° — 2x + 3 algebraically.
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Find the roots of the following equations by factoring.

1. x2-5x—-6=0 P=- (' g*( -S 2. x2-8x=0
(xL) (XH=0O ~% Y (x-%)= O
—b= o(x+l-0 O |x-8=0
>>(<\ / X=0 | )<~=
se-it Fo 8’}
235§<SX2— g{ ) f:tgi 8x2+30 DX

2) (X 3)=° —Yox+
,_z,a 913= -&—Lr‘ Q\O _&o
_Sx X ‘/x —22X #23 D
_/am Q. -,/

\3
/S 1-3 =9

>/ KR ~) P,
S\S 2 gi:é\o X g&i

X<

Aug 13-2:20 PM

Find the zeros of the folluwmg functmns by factoring.
5. fix)=x*- 13x3+ 36 ‘-ﬂ 6. fix)=x3-2x2- 9x+18
=Y-R16 &
X XY TxH!
? 'S(p) S— 2 ;b X D’&

GNC=0 5Ty XeA -afo
(YK >,)0<+3)0<‘3 < G K=o
3= WX 3K
X== ’:K;&{'KS?K x~%<:l|x~ I [x=3
S Ea N

7. Whatis the solutionof (x - 5)°°=0? (X S

- ~s
T

Aug 27-1:18 PM
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If we know the zeros of a function we can work backward to write a rule for the function.

fix) = (x —z;)(x —zz) where z; and z, are the zeros of the function.
(You can also use the roots of an equation)

Example

L. ertea_ ’m in standard form with zeros 2 and -1. =§ 2, ,}
FX)= (K‘{_&X‘H) X

SO~ X 5=

ST -~

2. Writea quadratic function in standard form with zeros 5 and -5.

Ax)= (x=S) (XTS)
F(x) < X’**sx,_sr&S
Lo s X =S
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